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PRUEBA DE ACCESO A CICLOS FORMATIVOS DE GRADO MEDIO
JUNIO 2016
PARTE COMUN: Apartado A2 LENGUA EXTRANJERA (INGLES)
Duracion: 45 minutos

ANSWER KEY

1. Answer the following questions. Write complete sentences. (1 point each = 2 points)

a) No, it has not. Because the trains have not carried as many passengers as the operator expected and the
company lost millions of Euros over the years.

b) The Tunnel is 50 km long, and it lies 75 metres under the ocean floor.

2. Find a synonym in the text for these words. (0.5 points each =1 point)

a): Happened: occurred b) Maximum transcendence: top priority

3. Are the following sentences true or false? Underline the correct option. (0.5 points each =1 point)
a) People can travel through the tunnel by train and by car. FALSE
b) The building of the tunnel doubled the estimated cost of 15 billion €. FALSE

4. Underline the best option. (0.5 points each = 1 point)

a) To travel through the tunnel takes...
3 - twenty minutes

b) The building of the tunnel took...
1- six years

5. Write a text approximately 80 words long. (5 points)

Assessment criteria to be taken into account:
- Content and organization
- Grammar
- Sentence structure
- Vocabulary
- Spelling
- Punctuation

CRITERIOS DE EVALUACION Y CALIFICACION
La calificacion de esta Parte o Apartado se adaptara a lo establecido en la RESOLUCION de 20 de mayo de 2016, de la Direccién General
de Formacion Profesional y Ensefianzas de Régimen Especial, por la que se convocan pruebas de acceso a los ciclos formativos de
Formacion Profesional (DOCV 25-05-2016).




